Exam 4 Study Guide :: Math 115 :: December 5, 201

1. Solve the triangle
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2. Trigonometric Equations
Solve
4cos*f —13cosf+3=0
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3. Trigonometric Identities

Verify

sect x — tan* z = sec? + tan? x
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Verify
(sinz — tanz)(cosx — cotx) = (cosx — 1)(sinz — 1)
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Verify
tan? u — sin? u = tan? usin® u
-7 - 2 _ < L —
eSS = Gy _ Sv» U =22 VN (oSt
4
oS W
= 2 (\, c@szu\
S *n
2 < %zb\\
- 5&/\4 (VN

[€~NN Zu
N
/Q\)

= 2 =2
oM SV \/

y!

Verify
cos(—z) — sin(—z) = cosz + sinz
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Verify
sin (z — ) = —sin (z)
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Verify
Lws sin (x — y) sin(z + y) = (sin (z) — sin (y))(sin (x) + sin (y))

[Simxeosy = st sy ]| s X sy + (05X Sy’
= (%*MX(DS\QQ" (cosx iy~
= M ESYy - ©SX S()““FLYJ
= svx(1-awty) - (- RINE) 937
5 Swix - sy S:VV‘?'\% - %\mzi v Simy wl\% = ey - S Y
= (%%X - gfwﬁy(g«'«w + W%

Verify
cos (x + y) cos(x — ) = cos® x — sin® (y)
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4. Compute 51n(15°) exactly (Hint: use a half-angle formula.) =" =
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7. Find the shortest distance across the river as shown in the figure. Co&I sy + 5\\4—— Swr
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